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1. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾ÛµýÛïõ, ¾ÛµýÛÍ¬Û …¶Ûé ¼ÛÐäüÅÛïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 

…ÛÈÛïõ (` ‘000) 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 

ïäõ¤ä×ø¼Û¶Ûà ÍÛ×”ýÛÛ 7 6 12 5 8 4 

 Calculate mean, median and mode from the following data : 

Expenditure  
(in ` ‘000) 

0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 

No. of families 7 6 12 5 8 4 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¶Ûà ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

”Û˜ÛÙ (` ‘000) 10 ¬Ûà ¶Ûà˜Ûé 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 

ïäõ¤ä×ø¼Û¶Ûà ÍÛ×”ýÛÛ 3 2 3 5 9 7 

 Calculate mean deviation and standard deviation from the following information : 

Expenditure  
(in ` ‘000) 

Below 10 10 – 20 20 – 30 30 – 40 40 – 50 50 - 60 

No. of families 3 2 3 5 9 7 

 

2. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ¼Ûé Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ¶Ûà Áéõ”ÛÛ ÉÛÛéµÛÛé : 14 

X 60 50 40 30 20 10 

Y 20 35 50 65 90 100 

 Calculate two regression lines from the following data : 

X 60 50 40 30 20 10 

Y 20 35 50 65 90 100 

…¬ÛÈÛÛ/OR 
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 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ÍÛÐüÍÛ×¼Û×µÛ…Û×ïõ ÉÛÛéµÛÛé : 

Ýïõ¾Û©Û (`) 5 10 17 12 24 25 30 

¸ÛäÁõÈÛ¥øÛé (kg.) 10 15 18 36 48 50 55 

 Calculate correlation coefficient from the following data : 

Price per  
(kg in `) 

5 10 17 12 24 25 30 

Supply (in kg.) 10 15 18 36 48 50 55 

 

3. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ÅÛÛÍ¸ÛéýÛÁõ, ¸ÛÛÉÛé …¶Ûé ÜºõÉÛÁõ¶Ûà ¸Û±ùÜ©Û¬Ûà ÍÛæ˜Ûïõ…Û×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 

¾ÛæÇ ÈÛÌÛÙ 2009 ˜ÛÛÅÛä ÈÛÌÛÙ 2010 
ÈÛÍ©Ûä…Ûé 

Ýïõ¾Û©Û ›÷¬¬ÛÛé Ýïõ¾Û©Û ›÷¬¬ÛÛé 

… 16 40 30 40 

¼Û 20 60 25 50 

ïõ 8 120 15 120 

¦ø 4 100 5 100 

ˆ 12 50 10 60 

 Construct Laspeyre’s, Pasche’s and Fisher Index numbers from the following data : 

2009 2010 
Commodities 

p0 q0 p1 q1 

A 16 40 30 40 

B 20 60 25 50 

C 8 120 15 120 

D 4 100 5 100 

E 12 50 10 60 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà •ÛóÛÐüïõÝïõ¾Û©Û ÍÛæ˜Ûïõ…Û×ïõ¶Ûà •Û¨Û©ÛÁõà (i) ïäõÅÛ ”Û˜ÛÙ¶Ûà ¸Û±ùÜ©Û (ii) ïõÛíé¤ä×øÜ¼Ûïõ 
…×þùÛ›÷¸ÛªÛ¶Ûà ¸Û±ùÜ©Û¬Ûà ïõÁõÛé : 

ÈÛÍ©Ûä…Ûé 
¾ÛæÇ ÈÛÌÛÙ¾ÛÛ× ÈÛÍ©Ûä¶ÛÛé 

ÈÛ¸ÛÁõÛÉÛ 
¾ÛæÇ ÈÛÌÛÙ¾ÛÛ×    

Ýïõ¾Û©Û 
˜ÛÛÅÛä ÈÛÌÛÙ¶Ûà  

Ýïõ¾Û©Û 

… 75 5 10 

¼Û 100 10 15 

ïõ 125 25 20 

¦ø 10 2 5 

ˆ 30 15 10 

ºõ 50 5 10 
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 From the following data, compute consumer price index using (i) aggregate expenditure 
method (ii) family budget method : 

Goods 
Units 

consumer in 
base year 

Price in base 
year 

Price in 
current year 

A 75 5 10 

B 100 10 15 

C 125 25 20 

D 10 2 5 

E 30 15 10 

F 50 5 10 

 

4. ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ ¾ÛÛÜÐü©Ûà¶Ûä× ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û ÈÛ¦éø ÍÛäÁéõ”Û Áéõ”ÛÛ¾ÛÛ× ÈÛÅÛ¨Û¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û ïõÁõÛé. …Û ›÷ 
ºéõÁõºõÛÁõ¶Ûà µÛÛÁõ¨ÛÛ ˜ÛÛÅÛä ÁõÛ”Ûà…é ©ÛÛé 2012¶ÛÛ ÈÛÌÛÙ¶Ûä× …¶Ûä¾ÛÛÜ¶Û©Û ÈÛé˜ÛÛ¨Û ïéõ¤øÅÛä× ÐüÉÛé ? 14 

ÈÛÌÛÙ 2001 2002 2003 2004 2005 2006 2007 

ÈÛé̃ ÛÛ¨Û     

(` 000) ¾ÛÛ× 

125 128 133 135 140 141 146 

 Calculate the linear trend values by the method of least square, also calculate trend value 
for 2012 : 

Year 2001 2002 2003 2004 2005 2006 2007 

Sales 
(` 000) 

125 128 133 135 140 141 146 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé¶Ûà …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà 4 ÈÛÌÛÙ¶Ûä× ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ÉÛÛéµÛÛé : 

ÈÛÌÛÙ ÈÛé̃ ÛÛ¨Û ÈÛÌÛÙ ÈÛé˜ÛÛ¨Û 

2000 100 2005 140 

2001 150 2006 150 

2002 175 2007 200 

2003 135 2008 220 

2004 120 2009 300 

 Estimate the four yearly moving average for the following data : 

Year Sales Year Sales 

2000 100 2005 140 

2001 150 2006 150 

2002 175 2007 200 

2003 135 2008 220 

2004 120 2009 300 



DE-109 4  

5. MCQ : 

 ¶Ûà˜Ûé¶ÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ÍÛÈÛÛÅÛ ÍÛÛ¾Ûé ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ 
ÅÛ”ÛÛé. þùÛ.©Û. ¸Ûó. 1 = a, ¸Ûó. 2 = d. 14 

 For the following each question, select the best answer and write only its number (a, b, c, 
or d) against the question number in your answer sheet. For example if the answer for  
Q. 1 is ‘a’ then write Q. 1 = a. 

 (1) ¾ÛµýÛÍ¬Û …é¤øÅÛé ÉÛä× ? 

  (a) ÜÍ¬ÛÜ©Û ¾ÛµýÛïõ (b) •ÛÛÜ¨ÛÜ©Ûïõ ¾ÛµýÛïõ 

  (c) ¼Û×¶Ûé (a) …¶Ûé (b) (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÐüà 
  Median is a 

  (a) positional average (b) mathematical average 

  (c) both (a) & (b) (d) None of these 

 (2) ¾ÛµýÛïõ …é¤øÅÛé ÉÛä× ?  

  (a) ÜÍ¬ÛÜ©Û ¾ÛµýÛïõ (b) •ÛÛÜ¨ÛÜ©Ûïõ ¾ÛµýÛïõ  

  (c) ¼Û×¶Ûé (a) …¶Ûé (b) (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 
  Mean is a 

  (a) positional average (b) mathematical average 

  (c) both (a) & (b) (d) None of the above 

 (3) ÍÛ¾ÛÛ×©ÛÁõ ¾ÛµýÛïõ¬Ûà ¾ÛéÇÈÛéÅÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé _______. 

  (a) ¶ÛïõÛÁõÛ©¾Ûïõ (b) ÉÛæ¶ýÛ 

  (c) ÐüïõÛÁõÛ©¾Ûïõ (d) ¼Û×¶Ûé (a) …¶Ûé (b) 

  Sum of deviation from arithmetic mean is  

  (a) negative (b) zero 

  (c) positive (d) both (a) & (b) 

 (4) …Ü©ÛÈýÛÛ¸Ûà ÍÛÁéõÁõÛÉÛ¶Ûà ËÛé¨Ûà¶Ûé _______ ïõÐéüÈÛÛýÛ. 

  (a) ½Ûæ©ÛïõÛÇ¶Ûä× ÍÛÁéõÁõÛÉÛ (b) ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ 

  (c) ½ÛÜÈÛÌýÛ¶Ûä× ÍÛÁéõÁõÛÉÛ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 
  Series of overlapping averages is called 

  (a) past averages (b) moving averages 

  (c) future averages (d) None of the above  

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¸Û±ùÜ©Û ïäõÅÛ …ÛÈÛèÜ«Û¶Ûé ¼Ûé ½ÛÛ•Û¾ÛÛ× ÈÛÐêü˜Ûé ™öé ? 

  (a) ¾ÛµýÛÍ¬Û (b) ¼ÛÐäüÅÛïõ 

  (c) ¾ÛµýÛïõ  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 
  Which method divides the total frequency into two parts ? 

  (a) Median (b) Mode 

  (c) Mean (d) None of the above 
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 (6) Root mean square deviation is 

  (a) ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û (b) ¸Ûó¾ÛÛÜ¨Û©Ûõ ÜÈÛ˜ÛÅÛ¶Û 

  (c) ÍÛÐüÍÛ×¼Û×µÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ 

  Root mean square deviation is 

  (a) mean deviation (b) standard deviation 

  (c) correlation (d) All the above 

 (7) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛé ÈÛ•ÛÙ _______. 

  (a) ÜÈÛ˜ÛÁõ¨Û (b) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ 

  (c) ÍÛÐüÍÛ×¼Û×µÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ 

  Square of standard deviation is 

  (a) variance (b) regression 

  (c) correlation (d) all the above 

 (8) ›Ûé ¼Ûé ˜ÛÅÛ ÈÛ˜˜Ûé ïõÛéˆ ÍÛ×¼Û×µÛ ¶Û ÐüÛéýÛ ©ÛÛé ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé …Û×ïõ   

  (a) – 2  (b) + 1 

  (c) + 2  (d) 0 

  If there is no relation between two variable, value of correlation of coefficient will 
be  

  (a) – 2  (b) + 1 

  (c) + 2  (d) 0 

 (9) ›Ûé ÍÛÐÍÛ×¼Û×µÛ…Û×ïõ ¶ÛïõÛÁõÛ©¾Ûïõ ÐüÛéýÛ ©ÛÛé ÍÛ×¼Û×µÛ ¼Û©ÛÛÈÛ©Ûà Áéõ”ÛÛ  

  (a) Š¸ÛÁõ ©ÛÁõºõ ›÷©Ûà (b) ¶Ûà˜Ûé ©ÛÁõºõ ›÷©Ûà 

  (c) Œ½Ûà  (d) ÍÛ¾ÛÛ×©ÛÁõ  

  In case, coefficient of correlation is negative, the curve representing the relation 
will be 

  (a) upward sloping (b) downward sloping 

  (c) vertical (d) horizontal 

 (10) 6d2/(N3–N) …é ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛ …Û×ïõ¶Ûà •Û¨Û©ÛÁõà _______ ¶Ûà ¸Û±ùÜ©Û ™öé.  

  (a) ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û (b) Í¸ÛàýÛÁõ¾Ûé¶Û 

  (c) ÅÛÛéÁéõ¶¡ö (d) ÜºõÉÛÁõ 

  6d2/(N3–N) is the method of calculating coefficient of correlation by 

  (a) Karl Pearson (b) Spearman 

  (c) Lorenz (d) Fischer  
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 (11) …ÛÈÛèÜ«Û¶ÛÛ ÜÈÛ©ÛÁõ¨Û¶ÛÛ ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛ …Û×ï¶Ûàõ______¶ÛÛ ÜïõÍÍÛÛ¾ÛÛ× •Û¨Û©ÛÁõà ¬Û©Ûà ¶Û¬Ûà. 

  (a) ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û (b) Í¸ÛàýÛÁõ¾Ûé¶Û 

  (c) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 

  Coefficient of correlation of frequency distribution could not be calculated in case 
of 

  (a) Karl Pearson (b) Spearman 

  (c) Least square method (d) None of the above 

 (12) P01 = (p1q1/p0q1)  100 …é ÍÛæªÛ 

  (a) ÅÛÛÍÛ¸ÛéýÛÁõ ¸Û±ùÜ©Û (b) ¸ÛÛÉÛé¶Ûà ¸Û±ùÜ©Û 

  (c) ¼ÛÛŠÅÛà ¸Û±ùÜ©Û (d) ÜºõÉÛÁõ ¸Û±ùÜ©Û 

  P01 = (p1q1/p0q1)  100 is the formula of 

  (a) Laspeyre’s method (b) Pasche’s method 

  (c) Bowley method (d) Fischer’s method 

 (13) ÅÛÛÍÛ¸ÛéýÛÁõ …¶Ûé ¸ÛÛÉÛé¶ÛÛ ÍÛæªÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ  

  (a) ¼ÛÛŠÅÛà (b) ÜºõÉÛÁõ 

  (c) ¾ÛÛÉÛÙÅÛ  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 

  Geometric mean of Laspeyre’s and Pasche’s formula is 

  (a) Bowley (b) Fischer’s 

  (c) Marshal (d) None of the above 

 (14) ˜ÛÜ’õýÛ ¸ÛÁõà“Û¨Û _______ ¶ÛÛé ÜÈÛÍ©ÛÛÁõ ™öé.  

  (a) …éïõ¾Û ¸ÛÁõà“Û¨Û (b) ÍÛ¾ÛýÛ ÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û 

  (c) ¸Ûþù ÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 

  Circular test is an extension of 

  (a) Unit test (b) Time reversal test 

  (c) Factor reversal test (d) None of the above  

  

________ 
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1. …Û•Û¨Û¶Û …é¤øÅÛé ÉÛä× ? Ý¼Ûþäù …Û•Û¨Û¶Û …¶Ûé …×©ÛÁõÛÅÛõ …Û•Û¨Û¶Û ÜÈÛÉÛé ÍÛ¾Û›ÛÈÛà, …ÛþùÉÛÙ …Û•Û¨Ûïõ¶ÛÛ 
ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  14 

 What is Estimation ? Explain Point Estimation and Interval Estimation and state the 
characteristics of a good estimator.  

    …¬ÛÈÛÛ/OR 

 (a) ¸ÛóïõÛÁõ-1 …¶Ûé ¸ÛóïõÛÁõ-2¶Ûà ½ÛæÅÛ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

  Write short note on Type-I and Type-II error. 

 (b) …éïõ ¼ÛÛ›ä÷¶Ûä× ¸ÛÁõà“Û¨Û …¶Ûé ¼Ûé ¼ÛÛ›ä÷¶Ûä× ¸ÛÁõà“Û¨Û ŠþùÛÐüÁõ¨Û …Û¸Ûà¶Ûé ÍÛ¾Û›ÛÈÛÛé.  

  Explain one tail test and two tail test with the help of an example. 
 

2. ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ ÍÛÛ¾ÛÛ¶ýÛ ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ …Û•Û¨ÛïõÛé (OLS …Û•Û¨ÛïõÛé) ËÛéÌ¥ø, ÍÛäÁéõ”Û …¶Ûé …¶ÛÜ½Û¶Û©Û 
(BLUE) …Û•Û¨ÛïõÛé ™öé.  14 

 Prove that ordinary least square estimators (OLS estimators) are Best, linear and 
unbiased estimators.   

…¬ÛÈÛÛ/OR 

 (a) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà X …¶Ûé Y ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé :  

X 35 40 70 14 25 66 83 50 25 30 

Y 50 40 30 62 48 30 12 46 51 31 

  Calculate the co-efficient of correlation between X and Y from the following 
information : 

X 35 40 70 14 25 66 83 50 25 30 

Y 50 40 30 62 48 30 12 46 51 31 

 (b) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛÐüÍÛ×¼Û×µÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

  Write short note on multiple correlation. 
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3. (a) ÍÛæ˜Ûïõ …Û×ïõ …é¤øÅÛé ÉÛä× ? ÍÛæ˜Ûïõ …Û×ïõ¶Ûà Áõ˜Û¶ÛÛ ÍÛ¾Û›ÛÈÛà ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ýÛÛé•ýÛ 
ÍÛæ˜Ûïõ …Û×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 

2006 (…ÛµÛÛÁõ ÈÛÌÛÙ) 2011 (˜ÛÛÅÛä ÈÛÌÛÙ) 
ÈÛÍ©Ûä Ýïõ¾Û©Û (P0) 

(`) 

›÷¬¬ÛÛé (Q0) 

(kg.) 

Ýïõ¾Û©Û (P1) 

(`) 

›÷¬¬ÛÛé (Q1) 

(kg.) 
A 16 110 20 116 
B 6 200 8 200 
C 10 124 10 150 
D 20 60 24 50 
E 6 100 24 176 

  What is Index Number ? Explain the construction of Index number and calculate 
proper Index number for the following information : 

2006 (base year) 2011 (current year) 

Commodities Price (P0) 

(`) 

Quantity (Q0) 

(kg) 

Price (P1) 

(`) 

Quantity 
(Q1) (Kg.) 

A 16 110 20 116 
B 6 200 8 200 
C 10 124 10 150 
D 20 60 24 50 
E 6 100 24 176 

…¬ÛÈÛÛ/OR 

   ÍÛæ˜Ûïõ …Û×ïõ¶ÛÛ ¸ÛþùÜÈÛ¸ÛýÛÛÙÍÛ …¶Ûé ÍÛ¾ÛýÛÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain factor reversal test and time reversal test of Index number. 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ýÛÛé•ýÛ ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 
¸ÛÛýÛÛ¶Ûä× ÈÛÌÛÙ 

ÈÛÍ©Ûä Ýïõ¾Û©Û       
(P0) 

›÷¬¬ÛÛé      
(Q0) 

˜ÛÛÅÛä ÈÛÌÛÙ         
Ýïõ¾Û©Û (P1) 

A 24 200 30 
B 8 400 8 
C 16 240 24 
D 40 120 48 

  Calculate proper Index number from the following information : 
Base Year 

Commodities Price       
(P0) 

Quantity 
(Q0) 

Current year Price 
(P1) 

A 24 200 30 
B 8 400 8 
C 16 240 24 
D 40 120 48 
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4. ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà …é¤øÅÛé ÉÛä× ? ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ›÷¨ÛÛÈÛà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ˜ÛÛÁõ 
ÈÛÌÛÙ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ÅÛˆ ÈÛÅÛ¨Û …¶Ûé …Å¸ÛïõÛÅÛà¶Û ÈÛµÛ-–Û¤ø ÉÛÛéµÛÛé : 14 

ÈÛÌÛÙ 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

½ÛÛÈÛ 81 73 84 131 88 80 92 133 96 89 98 142 

 What is Time Series ? State the uses of time series and find out Trend and Short time 
fluctuations of the following information :  

Year 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Price 81 73 84 131 88 80 92 133 96 89 98 142 

…¬ÛÈÛÛ/OR 

 (a) ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà¶ÛÛ –Û¤øïõÛé ›÷¨ÛÛÈÛÛé. 
   State the components of time series. 

 (b) ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà ¸Û±ùÜ©Û¶ÛÛ ºõÛýÛþùÛ …¶Ûé •ÛéÁõºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  
   State the merits and demerits of moving average method. 
 

5. ¶Ûà˜Ûé¶ÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ËÛéÌ¥ ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ (a, b, c, d) 
ÅÛ”ÛÛé : (þùÁéõïõ ¸ÛóÊ¶Û 1 •Ûä¨Û¶ÛÛé ™öé.) (MCQs) 14 

 For each of the following questions, choose the best answer and write only its number 
(a, b, c, d) in your answer book. [Each question carry 1 marks] (Multiple choice 
questions)  

 (1) ›Ûé Ü¶ÛÁõÛïõÁõ¨ÛàýÛ ¸ÛÁõàïõÅ¸Û¶ÛÛ ÍÛÛ˜Ûà ÐüÛéýÛ …¶Ûé ©Ûé¶ÛÛé …ÍÈÛàïõÛÁõ ïõÁõà…é ©ÛÛé ©Ûé _______. 

  (a) ¸ÛóïõÛÁõ-1¶Ûà ½ÛæÅÛ (b) ¸ÛóïõÛÁõ-2¶Ûà ½ÛæÅÛ 
  (c) ÍÛÛ˜ÛÛé Ü¶Û¨ÛÙýÛ (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  If Null Hypothesis is right and we reject, then it is _______. 
  (a) Type-1 error (b) Type-2 error 
  (c) True decision (d) None of the above 

 (2) ›Ûé …Û¸Û¨Ûà Ü¶ÛÁõÛïõÁõ¨ÛàýÛ ¸ÛÁõàïõÅ¸Û¶ÛÛ ”ÛÛé¤øà ÐüÛéýÛ …¶Ûé ©Ûé¶ÛÛé …ÍÈÛàïõÛÁõ ïõÁõà…é ©ÛÛé ©Ûé ______. 

  (a) ¸ÛóïõÛÁõ-1¶Ûà ½ÛæÅÛ (b) ¸ÛóïõÛÁõ-2¶Ûà ½ÛæÅÛ 
  (c) ÍÛÛ˜ÛÛé Ü¶Û¨ÛÙýÛ (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  If our Null Hypothesis is wrong and we reject, then it is ______. 
  (a) Type – 1 error (b) Type – 2 error 
  (c) True decision (d) None of the above 

 (3) ›Ûé Ü¶ÛþùÉÛÙ …Û•Û¨Ûïõ¶Ûà …¸ÛéÜ“Û©Û Ýïõ¾Û©Û ÍÛ¾ÛÜÌ¤ø ¸ÛóÛ˜ÛÅÛ ¼ÛÁõÛ¼ÛÁõ ¬ÛÛýÛ, ©ÛÛé ©Ûé ______. 

  (a) ËÛéÌ¥ø …Û•Û¨Ûïõ (b) …¶ÛÜ½Û¶Û©Û …Û•Û¨Ûïõ 
  (c) Ü¼Û¶Û-ÍÛäÁéõ”Û …Û•Û¨Ûïõ (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  If the expected value of sample estimator is equal to our population parameter 

then it is  
  (a) Best estimator (b) Unbiased estimator 
  (c) Non-linear estimator (d) None of the above 
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 (4) ›Ûé ‘x’ ÈÛÍ©Ûä ©Ûé ÍÛÛ¾ÛÛ¶ýÛ ÈÛÍ©Ûä ÐüÛéýÛ, ©ÛÛé ‘x’ ÈÛÍ©Ûä¶ÛÛ× ½ÛÛÈÛ …¶Ûé ©Ûé¶Ûà ¾ÛÛ×•Û ÈÛ˜˜Ûé¶ÛÛé 
ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ (r)  ______. 

  (a) r = 1  (b) – 1 < r < 0 

  (c) r < – 1 (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÐüá  
  If ‘x’ commodity is the common commodity, then the value of coefficient of 

correlation (r) between ‘x’ commodity’s price and its demand is ______. 

  (a) r = 1  (b) – 1 < r < 0 

  (c) r < – 1 (d) None of the above  

 (5) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà Ýïõ¾Û©Û Ð×ü¾ÛéÉÛÛ ________. 
  (a) –1 < r < 1 (b) r > 1 

  (c) r > 100 (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  The value of coefficient of correlation is always  

  (a) –1 < r < 1 (b) r > 1 

  (c) r > 100 (d) None of the above 

 (6) y ¶ÛÛé x ¸ÛÁõ¶ÛÛ× Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛÛ×ïõ¶Ûä× ÍÛæªÛ  ______. 

  (a) 
nxy – (x) (y)

ny2 – (y)2    

  (b) 
nxy – (x)(y)

nx2 – (x)2   

  (c) 
nxy – (x)(y)

[nx2 – (x)2] . [ny2 – (y)2]
   

  (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  The formula of Regression co-efficient of y on x is ______. 

  (a) 
n xy – (x) (y)

ny2 – (y)2    

  (b) 
nxy – (x)(y)

nx2 – (x)2   

  (c) 
nxy – (x)(y)

[nx2 – (x)2] . [ny2 – (y)2]
   

  (d) None of the above  

 (7) ›Ûé …ÛµÛÛÁõ ÈÛÌÛÙ ïõÁõ©ÛÛ× ˜ÛÛÅÛä ÈÛÌÛÙ¶ÛÛ ½ÛÛÈÛÛé¶Ûà ÍÛÁéõÁõÛÉÛ …¦øµÛà ÐüÛéýÛ, ©ÛÛé ½ÛÛÈÛÛé¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 
ïéõ¤øÅÛÛé ¬ÛÛýÛ ? 

  (a) 100  (b) 200  

  (c) 50  (d) 400 

  What is the Price Index Number when Average Prices of current year is half then 
base year ? 

  (a) 100  (b) 200  

  (c) 50  (d) 400 
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 (8) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ …ÛþùÉÛÙ ÍÛæ˜Ûïõ…Û×ïõ ¾ÛÛ¤éø ÍÛ¾ÛýÛÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û¶Ûà ÉÛÁõ©Û ™öé ?                

[šýÛÛ×, 0 = ¸ÛÛýÛÛ¶Ûä× ÈÛÌÛÙ, P = ½ÛÛÈÛ, 1 = ˜ÛÛÅÛä ÈÛÌÛÙ, Q = ›÷¬¬ÛÛé] 

  (a) P01  Q01 = 1   (b) P01  P10 = 
p1q1

 p0q0
  

  (c) P01  Q01 = 
p1q1

 p0q0
  (d) P01  P10 = 1 

  Which of the following is the condition for time reversal test for the Ideal Index 
number ? [Where, 0 = base year, P = price, 1 = current year, Q = Quantity] 

  (a) P01  Q01 = 1   (b) P01  P10 = 
p1q1

 p0q0
  

  (c) P01  Q01 = 
p1q1

 p0q0
  (d) P01  P10 = 1 

  (9) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ …ÛþùÉÛÙ ÍÛæ˜Ûïõ…Û×ïõ ¾ÛÛ¤éø ¸ÛþùÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û¶Ûà ÉÛÁõ©Û ™öé ?                

[šýÛÛ×, 0 = ¸ÛÛýÛÛ¶Ûä× ÈÛÌÛÙ, P = ½ÛÛÈÛ, 1 = ˜ÛÛÅÛä ÈÛÌÛÙ, Q = ›÷¬¬ÛÛé] 

  (a) P01  Q01 =   
p1q1

p0q0
  (b) P01  P10 = 

p1q1

 p0q0
  

  (c) P01  Q01 = 1 (d) P01  P10 = 1 

  Which of the following is the condition for factor reversal test for the Ideal Index 
number ? [Where, 0 = base year, P = price, 1 = current year, Q = Quantity] 

  (a) P01  Q01 =   
p1q1

p0q0
  (b) P01  P10 = 

p1q1

 p0q0
  

  (c) P01  Q01 = 1 (d) P01  P10 = 1 

 (10) ›Ûé ïõÛéˆ ÈÛÍ©Ûä¶ÛÛ× ½ÛÛÈÛ …Ü¶ÛýÛÜ¾Û©Û Áõà©Ûé ÈÛµÛ©ÛÛ×-–Û¤ø©ÛÛ× ÐüÛéýÛ, ©ÛÛé ©Ûé¶Ûé ïéõÈÛÛ ¸ÛóïõÛÁõ¶Ûà ÈÛµÛ–Û¤ø 
ïõÐéüÈÛÛýÛ ? 

  (a) þùà–ÛÙïõÛÅÛà¶Û ÈÛµÛ–Û¤ø (b) ¾ÛÛéÍÛ¾Ûà ÈÛµÛ–Û¤ø 

  (c) ˜ÛÜ’õýÛ ÈÛµÛ–Û¤ø (d) …Ü¶ÛýÛÜ¾Û©Û ÈÛµÛ–Û¤ø 

  Which type of fluctuation is it, if the price of a commodity increase and decrease 
irregularly ? 

  (a) Long-time fluctuations (b) Seasonal fluctuation 

  (c) Cyclical fluctuations (d) Irregular fluctuation 
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 (11) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¸ÛÜÁõ¼ÛÇ ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà ¾ÛÛ¤éø ”ÛÛÍÛ …•Û©ýÛ¶Ûä× ™öé ? 

  (a) ”Û˜ÛÙ  (b) Š©¸ÛÛþù¶Û 
  (c) ÍÛ¾ÛýÛ  (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  Which of the following is the most important factor for the time-series ? 

  (a) Cost  (b) Output 

  (c) Time  (d) None of the above 

 (12) Üþù¶Û-¸ÛóÜ©ÛÜþù¶Û ÈÛµÛ©Ûä× Š©¸ÛÛþù¶Û ïéõÈÛä× ÈÛÅÛ¨Û •Û¨ÛÛýÛ ? 

  (a) ÈÛµÛ©Ûä× ÈÛÅÛ¨Û (b) –Û¤ø©Ûä× ÈÛÅÛ¨Û 
  (c) ÜÍ¬ÛÁõ ÈÛÅÛ¨Û (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  Which type of trend is day by day increasing production ? 

  (a) Increasing trend (b) Decreasing trend 

  (c) Constant trend (d) None of the above 

 (13) ‘x’ …¶Ûé ‘y’ ˜ÛÅÛÁõÛÜÉÛ ÈÛ˜˜Ûé¶ÛÛ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûä× ÍÛæªÛ =  _________. 

  (a) 
nxy – (x)(y)

nx2 – (x)2
   

  (b) 
nxy – (x)(y)

ny2 – (y) 2
  

  (c) 
nxy – (x)(y)

[nx2 – (x)2] . [ny2 – (y)2]
  

  (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  The formula for coefficient of correlation between x and y is = ________. 

  (a) 
nxy – (x)(y)

nx2 – (x)2
   

  (b) 
nxy – (x)(y)

ny2 – (y) 2
  

  (c) 
nxy – (x)(y)

[nx2 – (x)2] . [ny2 – (y)2]
  

  (d) None of the above  

 (14) ›Ûé ¼Ûé ˜ÛÅÛÁõÛÜÉÛ ÈÛ˜˜Ûé ÍÛ×¸Ûæ¨ÛÙ µÛ¶Û ÍÛÐüÍÛ×¼Û×µÛ ÐüÛéýÛ, ©ÛÛé _______ 

  (a) r = 1  (b) r = 0 

  (c) r = – 1 (d) r =  

  If there is perfectly positive correlation between two variables, then _______ 

  (a) r = 1  (b) r = 0 

  (c) r = – 1 (d) r =  

   


